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F ol HFH) S AHHA
e LR FAX LH 3 Hl D
2017-01-02 | XIFAt2l = HY * = 5,000|2 &CMS
KNS AE & H*2 5,000| 2 &CMS
KNS AE & LA 5,000| 2 &CMS
KNS AE & Z|* 8 10,000| = &CMS
KNS AE & Olx= 10,000| = &CMS
2017-01-09 | XIFAtal = Olx=3 20,000|= &CMS
KNS AE & Z* A 10,000| = &CMS
KNS AE & L+ 10,000| = &CMS
KNS AE = T+ &l 5,000|2 &CMS
KNS AE = LrE 5,000|2 &CMS
KNS AE = Ol =Bt 5,000|2 &CMS
KNS AE = Ol*= 5,000|2 &CMS
KNS AE = Hr= 5,000|2 &CMS
KNS AE = ZrH 5,000|2 &CMS
KNS AE = XH* S 5,000| 2 &CMS
KNS AE = o= 5,000|2 &CMS
KNS AE = 0lx2] 5,000| 2 &CMS
2017-01-10 JEt=&d= M A0l Z 2| Al 01 &) 320,000
2017-01-12 JEt=&d= Lt sof+Etel 200,000
2017-01-18 JEt=&d= Z*0H 10,000
2017-01-23 | XAtz = Ext 5,000| 2 &CMS
KNS AE = LrE 5,000| 2 &CMS
KNS AE = 0l=2] 5,000| 2 &CMS
KNS AE = Z*3t 10,000 = & CMS
KNS AE = d*E 10,000 = & CMS
KNS AE = =3 5,000{= &CMS
KNS AE = B+ EN 5,000{= &CMS
KNS AE = 01+ 5,000{= &CMS
KNS AE = Ol+H 5,000{= &CMS
KNS AE = Ol =Xt 10,000 = & CMS
KNS Asl = ALHIE#AH (01 *F) 10,000 = & CMS
KNS AE = H*E 5,000{= &CMS
KNS AE = g E 5,000{= &CMS
KNS AE = 0l+& 5,000{= &CMS
KNS AE = 2 E 5,000| =2 4CMS
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2017-01-23 | XFAt2 =325 2 *0| 5,000{= &CMS
KNSAE SRASS 018l 10,000| = &CMS
KNSAE SASS &0l 10,000| = &CMS
KNSAE SASS Z*8 10,000| = &CMS
KNSAE SRASS 0l+& 5,000{= &CMS
NAAz 22=S Ay 3,000{= &CMS
KNSAE ZASS Z*E 10,000| = &CMS
KNSAE SASS 0l*3 5,000{= &CMS
KNS TASS A+ 3,000| 2 &CMS
KNS 2RSS Zx7t 3,000| 2 &CMS
KNS ZASS &HxE 5,000|2 &CMS
KNS EASS Lrs 5,000|2 &CMS
KNSAE ZASS L*E 5,000|2 &CMS
KNS EASS 2+ K 5,000|2 &CMS
KNS 2RSS SrE 5,000| 2 &CMS
KNS 2RSS Z*E 5,000|2 &CMS
ASAtel =8=S Ol =Xt 10,000| & &CMS
ASAtel =8=S Ol =2t 5,000| 2 &CMS
XSS 2RSS 2 *E 20,000 = &CMS
XSS 2RSS Ex i 100,000 & & CMS
2017-01-25 JEt=3 =3 =2*ct 10,000
IIEISASE %450l 2 100,000
eSS E % %0} 10,000
2017-01-31 | XIZ A2l =423 O+ & 30,000|= &CMS
KNHAE ZRASS =+ Xl 5,000{= &CMS
KNSAE ZASS x4 10,000 = & CMS
KNSAE ZASS d*3 5,000{= &CMS
KNSAE ZRASS e 20,000|= &CMS
ASAtel =8=3 RN, 10,000 = & CMS
ASAtel =8=3 LN, 20,000|= &CMS
KNSAE FASS A+ 10,000 = & CMS
KNSAE TR_SS A+ 10,000 = & CMS
PN PN =g Bhx 4 5,000{= &CMS
KNSAE FASS 2 *EH 5,000{= &CMS
KSAe =8=3 Olx= 10,000 = & CMS
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2017-01-31| XFAtg =325 ol & 5,000|2 &CMS
KNSAE SRASS L+ 5,000{= &CMS
KNSAE SASS g5 10,000| = &CMS
NAAz 22=S Z*8 5,000{= &CMS
KNSAE SRASS = 10,000| = &CMS
NAAz 22=S offxJ| g 20,000{= &CMS
Az 22=S Stx2 5,000{= &CMS
NAAz 2SS Z*8 5,000{= &CMS
KNS TASS 2 0K 5,000|2 &CMS
KNS 2RSS Lx2 3,000| 2 &CMS
ASAte =83 Olxg 5,000|2 &CMS
KNS EASS A +*3] 5,000|2 &CMS
KNSAE ZASS Z*E 5,000|2 &CMS
ASAtel =83 Ol*== 5,000|2 &CMS
KNS 2RSS x| 10,000| & &CMS
KNS 2RSS H*H 10,000| & &CMS
ASAtel =8=S Olx== 5,000| 2 &CMS
ASAtel =8=S Ol =EH 5,000| 2 &CMS
ASAtel =8=S GEES 3,000| 2 &CMS
XSS 2RSS D+ 5,000| 2 &CMS
XSS 2RSS g A 3,000| = &CMS
XSS 2RSS 2 *3] 5,000| 2 &CMS
XSS 2RSS Sxdt 10,000| & &CMS
KNSAE ZRASS ES R 5,000{= &CMS
ASAtel =8=3 INEE=! 3,000|= &CMS
KNSAE ZASS Sx 3,000{= &CMS
KNSAE ZASS B+ St 3,000{= &CMS
ASAtel =8=3 Oh+& 5,000{= &CMS
ASAtel =8=3 Oh+& 5,000{= &CMS
ASAtel =8=3 Olx== 3,000|= &CMS
KNSAE FASS 3T 20,000|= &CMS
KNSAE TR_SS H*E 5,000{= &CMS
PN PN =g g3l 20,000|= &CMS
KSAte =8=3 0l*= 10,000 = & CMS
PN PN =g Hx2 5,000{= &CMS
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2017-01-31| XFAtg =325 =0 5,000|2 &CMS

DIEtS RS E B 2! 10,000

IIEISASE ng 20,000

DIEIS RS E B 20,000

JEt=&=3 TrE 5,000

JEt=&=3 2 *EH 30,000
2017-02-02 | XIFAtE =325 B+ = 5,000|2 &CMS
NAAz 2SS H*2 5,000{= &CMS
KNS TASS LA 5,000|2 &CMS
KNS 2RSS Z|*8 10,000| & &CMS
ASAte =83 Ol*x= 10,000| & &CMS

2017-02-05 JEt=333 &« EH 10,000
2017-02-08 | XIS A2l =23 L+ 10,000| & &CMS

XA SJSE U*3 10,000| = & CMS

XA SJSE T+ &l 5,000{= &CMS

XA SJSE U*Z 5,000[= &CMS

XAE S/ASE Ol =2+ 5,000{= &CMS

2017-02-08 | XIS Atel SJASE Olx= 5,000[= &CMS

XAE S/ASE Hx= 5,000{= &CMS

XAE S/ASE ZrH 5,000[= &CMS

XAE S/ASE XH * S 5,000[= &CMS

XAE S/ASE s 5,000{= &CMS

XAE S/ASE 0l=2] 5,000[= &CMS

XA S/_SE Olx= 20,000|2 &CMS
JEt=3=S3 EetSolf+Etel 200,000
2017-02-10 JEt=3=S3 M A0l = 2| Al 01 &) 260,000
2017-02-14 JEt=E=3 AtERH QI M = XH3 ~ AHS Y 1,000,000
2017-02-20 JEt=3 =3 &+ 0H 10,000

2017-02-22 | KSGAe S/_SE Ex7t 5,000| = 4CMS

XA S/ASE TrE 5,000| 2 4CMS

XNHAE S/_SE 0l*2] 5,000| =2 4CMS

XNHAE S/_SE 2 *3t 10,000| & &CMS

XNHAE S/_SE Z* A 10,000| & &CMS

XNHAE S/_SE x5 5,000| =2 4CMS

XNHAE S/_SE 2 EH 5,000| =2 4CMS
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2017-02-22 | XIFAtE =325 0+ 5,000|2 &CMS
KNSAE SRASS 0+ 5,000| 2 &CMS
KNSAE SASS Ol =Xt 10,000| = &CMS
KNAAE 2= ALHIE A (O1*F) 10,000| = &CMS
KNSAE SASS Z*& 5,000| 2 &CMS
KNSAE ZRASS g Z 5,000| 2 &CMS
KNSAE SR_SS 0l+& 5,000|2 &CMS
KNSAE SASS B3 5,000|2 &CMS
ASAtel 283 018l 10,000| & &CMS
KNS ZRASS &0l 10,000| & &CMS
ASAtel =83 OI+& 5,000|2 &CMS
KNS 2RSS Ay 3,000| 2 &CMS
KNS ZASS L*E 10,000| & &CMS
KNS EASS A+ 3,000| 2 &CMS
KNSAE ZASS Zx7t 3,000| 2 &CMS
XSS 2RSS HxE 5,000| 2 &CMS
KNHAE ZASS L*S 5,000| 2 &CMS
XSS 2RSS FALES 5,000| 2 &CMS
XSS 2RSS 2+ K 5,000| 2 &CMS
XSS 2RSS SxE 5,000| 2 &CMS
XSS 2RSS Z+a 5,000| 2 &CMS
ASAtel =83 Ol =Xt 10,000| & &CMS
ASAtel =8=S Ol =2t 5,000| 2 &CMS
KNSAE ZRASS Ehxd 100,000 = & CMS
2017-02-25 JEt=3 =3 S +tH 10,000
2017-02-27 JEt=3=S3 Z| * O 10,000
JEt=3=S3 a*ct 10,000
JIEtS RS E Bz 20,000
JIES RS E Bl ) 10,000
2017-02-28 JEt=3=S3 g 20,000
JEt=3=S3 2 *EH 30,000
2017-03-01 JEt=3=S3 T2 5,000
2017-03-02 | XIZ At =23 b = 5,000{= &CMS
PN PN =g T2 5,000{= &CMS
PN PN =g A& 5,000{= &CMS
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2017-03-02 | XIFAtE =325 Olx= 10,000| & &CMS
KNSAE SRASS e 30,0002 &CMS
KNSAE SASS d*Xl 5,000| 2 &CMS
KNSAE SASS 2 xad 10,000| = &CMS
KNSAE SRASS E*3 5,000{= &CMS
KNSAE ZRASS 2 *E 20,000|= &CMS
KNSAE ZASS Ol =TH 10,000| = &CMS
NAAz 2SS Ol =TH 20,000{= &CMS
KNS TASS L+ 10,000| & &CMS
KNS 2RSS L+ 10,000| & &CMS
KNS ZASS Bhx Al 5,000|2 &CMS
KNS EASS 2 *EH 5,000|2 &CMS
ASAtel =83 Ol*s 10,000| & &CMS
KNS EASS Gixe 5,000|2 &CMS
KNS 2RSS U*3 5,000| 2 &CMS
KNS 2RSS g5 10,000| & &CMS
XSS 2RSS 2 *3] 5,000| 2 &CMS
XSS 2RSS S 10,000| & &CMS
ASAtel =8=S o201 20,000 = &CMS
XSS 2RSS Stx2 5,000| 2 &CMS
XSS 2RSS 2 *3] 5,000| 2 &CMS
XSS 2RSS 20K 5,000| 2 &CMS
XSS 2RSS d*2 3,000| 2 &CMS
ASAtel =8=3 Ol*& 5,000{= &CMS
KNHAE ZRASS A+*3] 5,000{= &CMS
KNSAE ZASS *E 5,000{= &CMS
ASAtel =8=3 Ol *== 5,000{= &CMS
KNSAE ZRASS 2| 10,000 = & CMS
KNSAE ZASS rab sl 10,000 = & CMS
ASAtel =8=3 Olx== 5,000{= &CMS
KSAte =8=3 Ol ~EH 5,000{= &CMS
KNSAE TR_SS WEES 3,000{= &CMS
PN PN =g H* 5,000{= &CMS
KNSAE FASS g H 3,000{= &CMS
PN PN =g Z*3 5,000{= &CMS
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2017-03-02 | XIFAtE =325 Fl* = 5,000|2 &CMS
KNSAE SRASS M*E 3,000| 2 &CMS
KNSAE SASS Sx+ 3,000| = &CMS
KNSAE SASS g8t 3,000| 2 &CMS
KNSAE SRASS Oh+ 5,000|2 &CMS
KNSAE ZRASS Olx== 3,000| 2 &CMS
KNSAE ZASS 3*x& 20,0002 &CMS
KNSAE SASS Z*& 5,000| 2 &CMS
ASAte =83 0l 10,000| & &CMS
KNS 2RSS E* 5,000|2 &CMS
KNS ZASS M0l 10,000| & &CMS
KNS EASS 2+ 0 5,000|2 &CMS
2017-03-08 | XIG A2l =23 L+ 10,000| & &CMS
KNS EASS U*3 10,000| & &CMS
KNS 2RSS T+ &l 5,000| 2 &CMS
KNS 2RSS LrE 5,000|2 &CMS
ASAtel =8=S Ol =Bt 5,000| 2 &CMS
2017-03-08 | XIZ A2l =223 Olx= 5,000| 2 &CMS
XSS 2RSS = 5,000| 2 &CMS
XSS 2RSS 2+ 5,000| 2 &CMS
ASAtel =8=S XH * S 5,000| 2 &CMS
XSS 2RSS L= 5,000| 2 &CMS
ASAtel =8=S 0l=2] 5,000| 2 &CMS
ASAtel =8=3 Olx= 20,000|= &CMS
2017-03-10 JEt=3=S3 M A0l = 2| Al 01 &) 280,000
JIEtSRZE TE S HEr2l 200,000
2017-03-15 JEt=3=S3 AtERH QI M = XH3 ~ AHS Y 1,000,000
2017-03-20 JEt=3 =3 &+ 0H 10,000
2017-03-22 | XIZ A=l =223 Ex7t 5,000{= &CMS
KNSAE ZASS LrE 5,000{= &CMS
KSAe =8=3 0l*2] 5,000{= &CMS
KNSAE FASS Z*3t 10,000 = & CMS
KNSAE TR_SS A+ 10,000 = & CMS
PN PN =g x5 5,000{= &CMS
PN PN =g B+ EH 5,000{= &CMS
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2017-03-22 | XIFAte =325 0+ 5,000|2 &CMS
KNSAE SRASS 0+ 5,000| 2 &CMS
KNSAE SASS Ol =Xt 10,000| = &CMS
KNAAE 2= ALHIE A (O1*F) 10,000| = &CMS
KNSAE SASS Z*& 5,000| 2 &CMS
KNSAE ZRASS g Z 5,000| 2 &CMS
KNSAE SR_SS 0l+& 5,000|2 &CMS
KNSAE SASS B+ E 5,000{= &CMS
KNS ZASS 2 *0| 5,000|2 &CMS
ASAtel =83 018l 10,000| & &CMS
KNS EASS 2 *3] 10,000| & &CMS
ASAtel =83 OI=& 5,000|2 &CMS
KNS ZASS Ay 3,000| 2 &CMS
KNS EASS Z*E 10,000| & &CMS
KNSAE ZASS A+ 3,000| 2 &CMS
XSS 2RSS D*7t 3,000| = &CMS
KNHAE ZASS HxE 5,000| 2 &CMS
XSS 2RSS L*S 5,000| 2 &CMS
XSS 2RSS L*E 5,000| 2 &CMS
XSS 2RSS 2K 5,000| 2 &CMS
XSS 2RSS SrE 5,000| 2 &CMS
ASAtel =83 Ol =Xt 10,000| & &CMS
ASAtel =8=S Ol =2t 5,000| 2 &CMS
KNSAE ZRASS Ehxd 100,000 = & CMS
2017-03-25 JEt=3 =3 S +tH 10,000
2017-03-27 JEt=3=S3 a*ct 10,000
JIEtS RS E %] %0} 10,000
JIEtS RS E Bl ) 10,000
JEt=3=S3 *3 20,000
2017-03-28 JEt=3=S3 T+ 5,000
2017-03-29 | XIZ A2l =23 M+E 3,000{= &CMS
PN PN =g S 3,000{= &CMS
KNSAE FASS 2«5t 3,000{= &CMS
KSAe =8=3 Oh+& 5,000{= &CMS
KSAE =8=3 Oh+& 5,000{= &CMS
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2017-03-29 | XIGAts S/SE Olx== 3,000|2 &CMS
KNSAE SRASS 3*x& 20,000|= &CMS
KNSAE SASS Z*& 5,000| 2 &CMS
KNSAE SASS E* 5,000|2 &CMS
KNSAE SRASS = R0 5,000|2 &CMS
KNSAE ZRASS e 30,000|= &CMS
KNSAE ZASS d*Xl 5,000|2 &CMS
KNSAE SASS 2 xad 10,000| = &CMS
KNS TASS x5 5,000|2 &CMS
KNS 2RSS 22 20,0002 &CMS
ASAte =83 Ol=TH 10,000| & &CMS
ASAtel =83 Ol=TH 20,0002 &CMS
KNSAE ZASS L+ 10,000| & &CMS
KNS EASS L+ 10,000| & &CMS
KNS 2RSS Bhx Al 5,000| 2 &CMS
KNS 2RSS 2 *EH 5,000|2 &CMS
ASAtel =8=S Olx= 10,000| & &CMS
XSS 2RSS ol *& 5,000| 2 &CMS
XSS 2RSS A*3 5,000| 2 &CMS
XSS 2RSS g5 10,000| & &CMS
XSS 2RSS 2 *3] 5,000| 2 &CMS
XSS 2RSS S 10,000| & &CMS
ASAtel =8=S o201 20,0002 &CMS
KNSAE ZRASS St 5,000{= &CMS
KNHAE ZRASS 4 *3] 5,000{= &CMS
KNSAE ZASS 2 *0H 5,000{= &CMS
KNSAE ZASS dr2 3,000{= &CMS
KNSAE ZRASS A+*3] 5,000{= &CMS
KNSAE ZASS *e 5,000{= &CMS
ASAtel =8=3 Ol *== 5,000{= &CMS
KNSAE FASS 2| 10,000 = & CMS
KNSAE TR_SS Rkt 10,000 = & CMS
KSAe =8=3 Olx== 5,000{= &CMS
KSAte =8=3 Ol ~EH 5,000{= &CMS
PN PN =g WEES 3,000{= &CMS
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g £8355 2R LH 2o Hl D
2017-03-29 | XIS Atel =/=E Z*A 5,000|2 &CMS
KNSAE SRASS A 3,000| 2 &CMS
KNSAE SASS Z*s 5,000| 2 &CMS
KNSAE SASS =L 10,000| = &CMS
KNSAE SRASS Elx== 5,000|2 &CMS
2017-03-30 JEt=&=3 2~ EH 30,000
2017-03-31 JEt=&=3 g 20,000
gl 6,260,000




